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A car traveling in a straight line at 55 km/h slows down at a constant acceleration of 2.0 m/ s%.
Calculate:

(a) The distance traveled before it stops.

(b) What is the velocity of the car after 3 seconds?

(c) The time it takes to stop.

— love W ' ‘ b
V= “?KV_:T - Y K\V/‘/\ ( 1 [éh) ( R éoo S‘)

_ 1583 ‘M/s

-

L ;_\‘Q\ o
G v uie 2a A
whe aF Shpr V=0

, L » =
o (152) 1985w |
Ax = — = 7 a(-2)

53 4+ (-2)(2)= (.3 we |

(15.3)

e -

(’) AJ= ‘/\T@ - O"‘k % N E“i -
. o C"’ 13

SR%S = vz=0 R
)f‘m
s



PHYS101
QUIZ#2- CHAPTER 2
DATE: 16/9/12

Name: KW Id#: Sect#:
/

A ball is thrown vertically upward from a building 50 m high with an initial speed of 20 m/s.
(a) What is the maximum height reached by the ball?

(b) What is its position after 5 seconds after throwing it?
(c) What is its velocity just before it hits the ground?
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The figure shows the velocity-time graph of a particle moving from the origin in a straight line.
(a) What is the displacement of the particle at it moves from t =15 to t =20 s?

(b) What is the acceleration of the particle at t =2 s?

(c) What is the acceleration of the particle at t = 10 s?

(d) What is the acceleration of the particle at t = 18 s?
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